ITERATIVE APPROXIMATION OF SOLUTIONS OF VARIATIONAL INEQUALITY PROBLEMS

ERIC U. OFOEDU

In this paper, we prove strong convergence of implicit and explicit iterative method to solutions of variational inequality problems on fixed point sets of finite family of nonexpansive mappings in q-uniformly smooth real Banach spaces. As an application, we obtain strong convergence of modifications of these iterative methods to solutions of the variational inequality problems on fixed point sets of finite family of strictly pseudocontractive mappings. Our theorems complement some recently announced results.

Keywords and phrases: Modulus of smoothness, generalized duality maps, accretive operators, Strictly pseudocontractive mappings, strongly accretive mappings

2010 Mathematical Subject Classification: 47H06, 47H09, 47J05, 47J25.

1. Introduction

Let $(E, \|.\|)$ be a real normed space. Let $S := \{x \in E : \|x\| = 1\}$. The space E is said to have a $G\hat{a}teaux$ differentiable norm if the limit

$$\lim_{t \to 0} \frac{\|x + ty\| - \|x\|}{t}$$

exists for each $x, y \in S$; and the space E is said to have a uniformly $G\hat{a}teaux$ differentiable norm if for each $y \in S$ the limit is attained uniformly for $x \in S$. The space E is said to be uniformly smooth if and only if for all $\epsilon > 0$, there exists $\delta > 0$ such that for all $x, y \in E$ with ||x|| = 1 and $||y|| \le \delta$, the inequality

$$\frac{\|x+y\|+\|x-y\|}{2}-1<\epsilon\|y\|$$

holds. It is well known that every uniformly smooth real Banach space is a reflexive real Banach space and has uniformly Gâteaux

Received by the editors March 26, 2012; Revised: February 25, 2013; Accepted: March 4, 2013

differentiable norm (see e.g., [13]).

Let E be a real normed linear space with dimension, $dim(E) \geq 2$. The modulus of smoothness of E is the function $\rho_E : [0, \infty) \to [0, \infty)$ defined by

$$\rho_E(t) = \sup \left\{ \frac{\|x+y\| + \|x-y\|}{2} - 1 : \|x\| = 1, \|y\| = t \right\}.$$

In terms of the modulus of smoothness (see e.g. [13]), the space E is called $uniformly \ smooth$ if and only if $\lim_{t\to 0^+} \frac{\rho_E(t)}{t} = 0$. The space E is called q-uniformly smooth if and only if there exists a constant c>0 such that $\rho_E(t) \leq ct^q$, t>0. It is easy to see that for $1 < q < +\infty$, every q-uniformly smooth Banach space is uniformly smooth; and thus has a uniformly Gâteaux differentiable norm.

Let E be a real normed linear space with dual E^* . We denote by J_q the generalized duality mapping from E to 2^{E^*} defined by

$$J_q x := \{ f^* \in E^* : \langle x, f^* \rangle = ||x||^q, ||f^*|| = ||x||^{q-1} \},$$

where $\langle .,. \rangle$ denotes the generalized duality pairing between members of E and members of E^* . For q=2, the mapping $J=J_2$ from E to 2^{E^*} is called the normalized duality mapping. It is well known that if E is uniformly smooth or E^* is strictly convex, then the duality mapping is single-valued; and if E has a uniformly Gâteaux differentiable norm then the duality mapping is norm-to-weak* uniformly continuous on bounded subsets of E. If E=H is a Hilbert space then the duality mapping becomes the identity map of E (see e.g., [13, 48]). In the sequel, we shall denote the single-valued generalized duality mapping by E0 and the single valued normalized duality mapping by E1.

A real normed space E with strictly convex dual is said to have a weakly sequentially continuous generalized duality mapping j_q if and only if for each sequence $\{x_n\}_{n\geq 1}$ in E such that $\{x_n\}_{n\geq 1}$ converges weakly to x^* in E, we have that $\{j_q(x_n)\}_{n\geq 1}$ converges in the weak* topology to $j_q(x^*)$. A real Banach space E is said to satisfy Opial's condition if for any sequence $\{x_n\}_{n\geq 1}$ in E such that $\{x_n\}_{n\geq 1}$ converges weakly to x^* in E, we have that

$$\lim \sup_{n \to \infty} \|x_n - x^*\| < \lim \sup_{n \to \infty} \|x_n - y\|$$

for all $y \in E$, $y \neq x^*$. By Theorem 1 of Gossez and Lami Dozo [15], it is known that if E admits weakly sequentially continuous duality mapping, then E satisfies Opial's condition (see [15] for more details). Aside from Hilbert spaces, it was noted in [5] that the most significant class of Banach spaces having a weakly sequentially continuous generalized duality mapping are the sequence spaces ℓ_q for $1 < q < +\infty$ (see [6] and [7], where it is also shown that $L_q(\mathbb{R})$ has no weakly sequentially continuous duality mapping for $q \neq 2$).

A mapping $f: E \to E$ is said to be a *strict contraction* or simply a *contraction* if and only if there exists $\gamma_0 \in [0, 1)$ such that for all $x, y \in E$,

$$||f(x) - f(y)|| \le \gamma_0 ||x - y||.$$

A mapping $T: E \to E$ is called *nonexpansive* if and only if for all $x, y \in E$,

$$||Tx - Ty|| \le ||x - y||.$$

A point $x \in E$ is called a *fixed point* of an operator T if and only if Tx = x. The set of fixed points of an operator T is denoted by F(T), that is, $F(T) := \{x \in E : Tx = x\}$.

A mapping $A: E \to E$ is said to be *accretive* if and if for all $x, y \in E$ there exists $j_q(x-y) \in J_q(x-y)$ such that

$$\langle Ax - Ay, j_q(x - y) \rangle \ge 0.$$

A mapping $A: E \to E$ is called *strongly accretive* if and only if there exists a constant $\eta > 0$ and for all $x, y \in E$ there exist $j_{q}(x - y) \in J_{q}(x - y)$ such that

$$\langle Ax - Ay, j_q(x - y) \rangle \ge \eta ||x - y||^q.$$

When E=H is a Hilbert space, accretive and strongly accretive mappings coincide with monotone and strongly monotone mappings, respectively.

A linear operator $A: H \to H$ is called a k-strongly positive operator if and only if there exists a constant k > 0 such that for all $x \in H$,

$$\langle Ax, x \rangle \ge k ||x||^2.$$

Thus, every strongly positive bounded linear operator on H is strongly monotone.

Iterative approximation of fixed points and zeros of nonlinear operators has been studied extensively by many authors to solve nonlinear operator equations as well as variational inequality problems (see e.g., [18], [23]-[28], [32]-[38]). In particular, iterative approximation of fixed points of nonexpansive mappings is an important subject in nonlinear operator theory and its applications in image recovery and signal processing is well known (see e.g., [12, 31, 47]). Most published results on nonexpansive mappings centered on the iterative approximation of fixed points of the nonexpansive mappings or approximation of a common fixed point of a given family of nonexpansive mappings. Iterative methods for nonexpansive mappings are now also applicable in solving convex minimization problems (see, for example, [45] and references therein).

Let H be a real Hilbert space with inner product $\langle .,. \rangle$. Let C be a closed convex nonempty subset of H, let $T: C \to C$ be a nonexpansive mapping such that $F(T) \neq \emptyset$. Given $u \in C$ and a real sequence $\{\alpha_n\}_{n\geq 1}$ in the interval (0,1), starting with an arbitrary initial $x_0 \in C$, let a sequence $\{x_n\}_{n\geq 1}$ be defined by

$$x_{n+1} = \alpha_{n+1}u + (1 - \alpha_{n+1})Tx_n, n \ge 0.$$
(1.1)

Under appropriate conditions on the iterative parameter $\{\alpha_n\}_{n\geq 1}$, it has been shown by Halpern [16], Lions [21], Wittmann [41] and Bauschke [2] that $\{x_n\}_{n\geq 0}$ converges strongly to $P_{F(T)}u$, the projection of u to the fixed point set, F(T) of T.

H. K. Xu [45] studied the following quadratic minimization problem: find $x^* \in F(T)$ such that

$$\frac{1}{2} \left\langle Ax^*, x^* \right\rangle - \left\langle x^*, u \right\rangle = \min_{x \in F(T)} \left(\frac{1}{2} \left\langle Ax, x \right\rangle - \left\langle x, u \right\rangle \right), \quad (1.2)$$

where $u \in H$ is fixed and $A: H \to H$ a bounded linear strongly positive operator. Let $C_1, C_2, ..., C_N$ be N closed convex subsets of a real Hilbert space H having a nonempty intersection C. Suppose also that each C_i is a fixed point set of nonexpansive mappings $T_i: H \to H, i = 1, 2, ..., N$, Xu [45] proved strong convergence of the iterative algorithm

$$x_0 \in H, \ x_{n+1} = (I - \alpha_{n+1}A)T_{n+1}x_n + \alpha_{n+1}u, \ n \ge 0$$
 (1.3)

(where $T_n = T_{n \bmod N}$ and the mod function takes values in $\{1, 2, ..., N\}$) to a unique solution of the quadratic minimization problem

(1.2).

Marino and Xu [24], proved that the iteration scheme given by

$$x_0 \in H, \ x_{n+1} = \alpha_n \gamma f(x_n) + (I - \alpha_n A) T x_n, \ n \ge 0$$
 (1.4)

converges strongly to a unique solution $x' \in F(T)$ of the variational inequality

$$\langle (\gamma f - A)x', y - x' \rangle \le 0 \,\forall \, y \in F(T),$$
 (1.5)

which is the optimality condition for the minimization problem

$$\min_{x \in F(T)} \left(\frac{1}{2} \left\langle Ax, x \right\rangle - h(c) \right),$$

where h is a potential function for γf (that is, $h'(x) = \gamma f(x)$ for all $x \in H$); provided $f: H \to H$ is a contraction, $T: H \to H$ is nonexpansive and the iterative parameter $\{\alpha_n\}_{n\geq 0}$ satisfies appropriate conditions.

In [46], Yamada introduced the following hybrid iterative method

$$x_0 \in H, \ x_{n+1} = Tx_n - \mu \lambda_n A(Tx_n), \ n \ge 0,$$
 (1.6)

where T is nonexpansive, A is L-Lipschitzian and strongly monotone operator with constant $\eta > 0$ and $0 < \mu < \frac{2\eta}{L^2}$. He proved that if $\{\lambda_n\}_{n\geq 1}$ satisfied appropriate conditions, then (1.6) converges strongly to a unique solution $x' \in F(T)$ of the variational inequality

$$\langle Ax', y - x' \rangle \ge 0 \ \forall \ y \in F(T).$$

Recently, M. Tian [40] studied the following iterative method:

$$x_0 \in H, \ x_{n+1} = \alpha_n \gamma f(x_n) + (I - \mu \alpha_n A) T x_n, \ n \ge 0.$$
 (1.7)

Tian [40] proved that if $f: H \to H$ is a contraction, $A: H \to H$ is an η -strongly monotone mapping, $T: H \to H$ a nonexpansive mapping and the parameter $\{\alpha_n\}_{n\geq 1}$ satisfies appropriate conditions, then the sequence $\{x_n\}_{n\geq 1}$ converges strongly to a unique solution $x' \in F(T)$ of the variational inequality

$$\langle (\gamma f - \mu A)x', y - x' \rangle \leq 0 \ \forall \ y \in F(T).$$

Motivated by the results of the authors mentioned above, it is our aim in this paper to prove strong convergence of implicit and explicit iterative method to solutions of variational inequality problems on fixed point sets of nonexpansive mappings in q-uniformly smooth real Banach spaces. As an application, we obtain strong

convergence of modifications of these iterative methods to solutions of the variational inequality problems on fixed point sets of strictly pseudocontractive mappings. Our theorems complement some recently announced results.

2. Preliminary

In what follows, we shall make use of the following Lemmas:

Lemma 2.1. Let E be a real normed linear space, then for $1 < q < +\infty$, the following inequality holds:

$$||x+y||^q \le ||x||^q + q\langle y, j_q(x+y)\rangle \ \forall \ x, y \in E, \ \forall \ j_q(x+y) \in J_q(x+y).$$

Lemma 2.2. (See e.g., [4, 43, 45]) Let $\{\lambda_n\}_{n\geq 1}$ be a sequence of nonnegative real numbers satisfying the condition

$$\lambda_{n+1} \le (1 - \alpha_n)\lambda_n + \sigma_n, \ n \ge 0,$$

where $\{\alpha_n\}_{n\geq 0}$ and $\{\sigma_n\}_{n\geq 0}$ are sequences of real numbers such that $\{\alpha_n\}_{n\geq 0}\subset [0,1]$ $\sum_{n\geq 0}^{\infty}\alpha_n=+\infty$ Sympose that $\alpha_n=\alpha(\alpha_n)$ $n\geq 0$

$$\{\alpha_n\}_{n\geq 1}\subset [0,1], \sum_{n=1}^{\infty}\alpha_n=+\infty.$$
 Suppose that $\sigma_n=o(\alpha_n), n\geq 0$

(i.e.,
$$\lim_{n\to\infty} \frac{\sigma_n}{\alpha_n} = 0$$
) or $\sum_{n=1}^{\infty} |\sigma_n| < +\infty$ or $\limsup_{n\to\infty} \frac{\sigma_n}{\alpha_n} \leq 0$, then $\lambda_n \to 0$ as $n \to \infty$.

Lemma 2.3. (Compare with Lemma 3 pg. 257 of Bruck [11]) Let C be a nonempty closed and convex subset of a real strictly convex Banach space E. Let $\{T_i\}_{i\geq 1}$ be a sequence of nonself nonexpansive

mappings
$$T_i: C \to E$$
 such that $F:=\bigcap_{i=1}^{\infty} F(T_i) \neq \emptyset$. Let $\{\sigma_i\} \subset$

(0,1) be such that
$$\sum_{i=1}^{\infty} \sigma_i = 1$$
. Then the mapping $T := \sum_{i=1}^{\infty} \sigma_i T_i$:

$$C \to E$$
 is well defined, nonexpansive and $F(T) = \bigcap_{i=1}^{\infty} F(T_i)$.

Lemma 2.4. (See [49], p.202 Lemma 3). Let E be a strictly convex Banach space and C be a closed convex subset of E. Let T_1 , $T_2,...,T_r$ be nonexpansive mappings of C into itself such that the set of common fixed points of T_1 , $T_2,...,T_r$ is nonempty. Let S_1 , $S_2,...,S_r$ be mappings of C into itself given by $S_i = (1-\gamma_i)I + \gamma_i T_i$ for any $0 < \gamma_i < 1$, i = 1, 2, ..., r, where I denotes the identity mapping on C. Then S_1 , $S_2,...,S_r$ satisfies the following: $\bigcap_{i=1}^r F(S_i) =$

$$\bigcap_{i=1}^{r} F(T_i) \text{ and } \bigcap_{i=1}^{r} F(S_i) = F(S_r S_{r-1} ... S_1) = F(S_1 S_{r-1} ... S_2) = ... = F(S_{r-1} ... S_1 S_r).$$

Lemma 2.5. (See e.g. [44]) Let E be a q-uniformly smooth real Banach space for some q > 1, then there exists some positive constant d_q such that

$$||x+y||^q \le ||x||^q + q\langle y, j_q(x)\rangle + d_q||y||^q$$
 (2.1)

 $\forall x, y \in E, \ \forall \ j_q(x) \in J_q(x).$

If E is L_q (or ℓ_q) space, the constant d_q in (2.1) has been calculated. This is shown in the following lemma.

Lemma 2.6. (See e.g. [19]) Let E be L_q (or ℓ_q) space (1 < q < $+\infty$) and $x, y \in E$,

(1) if
$$1 < q < 2$$
, then

$$||x + y||^q \le ||x||^q + q\langle y, j_q(x)\rangle + d_q||y||^q$$

 $\forall x, y \in E, \ \forall j_q(x) \in J_q(x), \ where \ d_q = \frac{1+b_q^{q-1}}{(1+b_q)^{q-1}}, \ and \ b_q \ is$ the unique solution of the equation

$$(q-2)b^{q-1} + (q-1)b^{q-2} - 1 = 0, 0 < b < 1.$$

(2) if
$$2 \le q < +\infty$$
, then

$$||x+y||^2 \le ||x||^2 + 2\langle y, j(x)\rangle + (q-1)||y||^2$$

$$\forall \ x,y \in E, \ \forall \ j(x) \in J(x).$$

Lemma 2.7. (Lemma 2.2 of [42], p. 1411) Let C be a closed convex nonempty subset of a reflexive Banach space which satisfies Opial's condition and suppose $T: C \to E$ is nonexpansive, then the mapping I-T is demiclosed at zero, that is $\{x_n\}_{n\geq 1}$ is a sequence in C such that $x_n \to x^*$ and $x_n - Tx_n \to 0$ as $n \to \infty$, then $x^* = Tx^*$

Let μ be a bounded linear functional defined on ℓ_{∞} satisfying $\|\mu\| = 1 = \mu(1)$. It is known that μ is a mean on \mathbb{N} if and only if

$$\inf\{a_n : n \in \mathbb{N}\} \le \mu(a_n) \le \sup\{a_n : n \in \mathbb{N}\}\$$

for every $a=(a_1,a_2,a_3,...)\in \ell_{\infty}$. In the sequel, we shall use $\mu_n(a_n)$ instead of $\mu(a)$. A mean μ on \mathbb{N} is called a Banach limit if $\mu_n(a_n)=\mu_n(a_{n+1})$ for every $a=(a_1,a_2,a_3,...)\in \ell_{\infty}$. It is well known that if μ is a Banach limit, then

$$\liminf_{n \to \infty} a_n \le \mu_n a_n \le \limsup_{n \to \infty} a_n$$

for all $a=(a_1,a_2,a_3,...) \in \ell_{\infty}$. It is now easy to see that for $a=(a_1,a_2,...), b=(b_1,b_2,...) \in \ell_{\infty}$, if $\lim_{n\to\infty} a_n=a^*$, then $\mu_n(a_n)=a^*$ and if $\lim_{n\to\infty} a_n=\lim_{n\to\infty} b_n$, then $\mu_n(a_n)=\mu_n(b_n)$.

3. Main results.

We start as follows.

Lemma 3.1. Let E be a real normed linear space. Let $A: E \to E$ be a η -strongly accretive mapping. Let $T: E \to E$ be a nonexpansive mapping such that $F(T) \neq \emptyset$, $\lambda > 0$ and $u \in E$ be a fixed vector. Suppose that the solution $x' \in F(T)$ of the variational inequality $\langle u - \lambda Ax', j_q(p - x') \rangle \leq 0 \ \forall \ p \in F(T)$ exists, then x' is unique.

Proof. Suppose for contradiction that the variational inequality has two solutions in F(T), say $x' \neq y'$, then we have, in particular, that

$$\langle u - \lambda Ax', j_q(y' - x') \rangle \le 0$$

and

$$-\langle u - \lambda A y', j_q(y' - x') \rangle \le 0.$$

Thus, adding these two inequalities and using strong accretivity of A, we obtain that

$$\lambda \eta \|y' - x'\|^q \le \langle \lambda A y' - \lambda A x', j_q(y' - x') \rangle \le 0,$$

a contradiction. Hence, the variational inequality has a unique solution, provided the solution exists. This completes the proof. \Box

Remark 3.2. If E is a q-uniformly smooth real Banach space; a mapping $A: E \to E$ an L-Lipschitzian η -strongly accretive and $T: E \to E$ a nonexpansive mapping, then for the mapping $(I - t\lambda A)T: E \to E$ (where I is the identity map of E, $\lambda > 0$ and

 $t \in (0,1)$, we obtain using Lemma 2.5 that

$$\begin{aligned} \|(I - t\lambda A)Tx - (I - t\lambda A)Ty\|^q &= \|Tx - Ty - t\lambda (ATx - ATy)\|^q \\ &\leq \|Tx - Ty\|^q - qt\lambda \langle ATx - ATy, \\ j_q(Tx - Ty)\rangle + d_q(t\lambda)^q \\ &\times \|ATx - ATy\|^q \\ &\leq \|Tx - Ty\|^q - qt\eta\lambda \|Tx - Ty\|^q \\ &+ d_q(tL\lambda)^q \|Tx - Ty\|^q \\ &\leq \left(1 - t\lambda (q\eta - d_qL^q\lambda^{q-1})\right) \\ &\times \|Tx - Ty\|^q \end{aligned}$$

So that if λ is such that $0 < \lambda < \left(\frac{q\eta}{L^q d_q}\right)^{\frac{1}{q-1}}$, we have that

$$0 < 1 - t\lambda(q\eta - d_q L^q \lambda^{q-1}) < 1$$

and since T is a nonexpansive mapping of E into E and $1 < q < +\infty$, we obtain

$$\|(I - t\lambda A)Tx - (I - t\lambda A)Ty\| \leq \left(1 - t\lambda(q\eta - d_qL^q\lambda^{q-1})\right)^{\frac{1}{q}} \times \|Tx - Ty\|$$

$$\leq \left(1 - t\lambda(q\eta - d_qL^q\lambda^{q-1})\right)^{\frac{1}{q}} \times \|x - y\|. \tag{3.1}$$

Lemma 3.3. Let E be a q-uniformly smooth real Banach space. Let $A: E \to E$ be an L-Lipschitzian η -strongly accretive mapping. Let $T: E \to E$ be a nonexpansive mapping such that $F(T) \neq \emptyset$. Let $u \in E$ be fixed, $0 < \lambda < \left(\frac{q\eta}{L^q d_q}\right)^{\frac{1}{q-1}}$ and $t \in \left(0, \min\left\{1, \frac{1}{q\eta\lambda - d_q(L\lambda)^q}\right\}\right)$, then there exists a unique $z_t \in E$ such that

$$z_t = tu + (I - t\lambda A)Tz_t. (3.2)$$

Proof. For each $t \in \left(0, \min\left\{1, \frac{1}{q\eta\lambda - d_q(L\lambda)^q}\right\}\right)$, define $S_t : E \to E$ by $S_t x = tu + (I - t\lambda A)Tx$ for all $x \in E$. Then,

$$||S_t x - S_t y|| = ||(I - t\lambda A)Tx - (I - t\lambda A)Ty||$$

$$\leq \left(1 - t\lambda (q\eta - d_q(L)^q \lambda^{q-1})\right)^{\frac{1}{q}} ||x - y||.$$

Thus, for all $t \in \left(0, \min\left\{1, \frac{1}{q\eta\lambda - d_q(L\lambda)^q}\right\}\right)$, we have that S_t is a strict contraction on E. Hence, there exists a unique $z_t \in E$ which satisfies (3.2). This completes the proof. \square

Lemma 3.4. Let E, A, $u \in E$ and T be as in Lemma 3.3. Let $\{z_t\}$ satisfy (3.2), then

- (a) $\{z_t\}$ is bounded;
- (b) The mapping $\Psi : \left(0, \min\left\{1, \frac{1}{q\eta\lambda d_q(L\lambda)^q}\right\}\right) \to E$ given by $\Psi(t) = z_t$ is continuous;
- (c) $\lim_{t\to 0} ||z_t Tz_t|| = 0.$

Proof.

(a) Let $p \in F(T)$. If $z_t = p$ for all $t \in \left(0, \min\left\{1, \frac{1}{q\eta\lambda - d_q(L\lambda)^q}\right\}\right)$, then we are done. Otherwise, let $t^* \in \left(0, \min\left\{1, \frac{1}{q\eta\lambda - d_q(L\lambda)^q}\right\}\right)$ be such that $z_t \neq p \ \forall \ t \in (0, t^*]$; then using (3.1), (3.2) and Lemma 2.1, we have that for all $t \in (0, t^*]$,

$$||z_{t} - p||^{q} = ||(I - t\lambda A)Tz_{t} - (I - t\lambda A)p + t(u - \lambda Ap)||^{q}$$

$$\leq \left(1 - t(q\eta\lambda - d_{q}(L\lambda)^{q})\right)||z_{t} - p||^{q}$$

$$+qt\left\langle u - \lambda Ap, j_{q}(z_{t} - p)\right\rangle$$

$$\leq \left(1 - t(q\eta\lambda - d_{q}(L\lambda)^{q})\right)||z_{t} - p||^{q}$$

$$+qt||u - \lambda Ap||.||z_{t} - p||^{q-1}$$
(3.3)

Thus, we obtain from (3.3) that

$$||z_t - p|| \le (1 - t(q\eta\lambda - d_q(L\lambda)^q)) ||z_t - p|| + qt||u - \lambda Ap||.$$
 (3.4)

Inequality (3.4) therefore gives

$$||z_t - p|| \le \frac{q||u - \mu Ap||}{q\eta\lambda - d_q(L\lambda)^q}.$$

Hence, the path $\{z_t\}$ is bounded; and so is $\{ATz_t\}$.

(b) Let $t_0 \in \left(0, \min\left\{1, \frac{1}{q\eta\lambda - d_q(L\lambda)^q}\right\}\right)$ be arbitrary. It is enough to show that the mapping $\Psi: \left(0, \min\left\{1, \frac{1}{q\eta\lambda - d_q(L\lambda)^q}\right\}\right) \to E$ given by $\Psi(t) = z_t$ is continuous at t_0 . Now, for some constant $M_1 > 0$ and

using Lemma 2.1, we have that

$$||z_{t} - z_{t_{0}}||^{q} = ||(t - t_{0})u - (t - t_{0})\lambda ATz_{t} + (I - t_{0}\lambda A)Tz_{t} - (I - t_{0}\lambda A)Tz_{t_{0}}||^{q}$$

$$\leq ||(I - t_{0}\lambda A)Tz_{t} - (I - t_{0}\lambda A)Tz_{t_{0}}||^{q} + q\Big\langle (t - t_{0})u - (t - t_{0})\lambda ATz_{t}, j_{q}(z_{t} - z_{t_{0}})\Big\rangle$$

$$\leq \Big(1 - t_{0}(q\eta\lambda - d_{q}(L\lambda)^{q})\Big)||z_{t} - z_{t_{0}}||^{q} + |t - t_{0}|M_{1}||z_{t} - z_{t_{0}}||^{q-1}.$$
(3.5)

Thus, we obtain from (3.5) that

$$\|\Psi(t) - \Psi(t_0)\| = \|z_t - z_{t_0}\| \le \frac{M_1}{t_0(q\eta\lambda - d_q(L\lambda)^q)} |t - t_0|$$

and the result follows.

(c) Using (3.2), we have that for some constant $M_0 > 0$,

$$||z_t - Tz_t|| \le t||u - \lambda ATz_t|| \le tM_0 \to 0 \text{ as } t \to 0.$$

This completes the proof. \Box

Theorem 3.5. Let E, A, $u \in E$ and T be as in Lemma 3.3. Let $\{z_t\}$ satisfy (3.2), then $\{z_t\}$ converges strongly to some $x' \in F(T)$ which is a solution of the variational inequality

$$\langle u - \lambda Ax', j(p - x') \rangle \le 0 \ \forall \ p \in F(T).$$
 (3.6)

Proof. By Lemma 3.1, if solution of (3.6) exists in F(T), then it is unique. Let $p \in F(T)$, then using (3.2), we have that

$$z_t - p = t(u - \lambda Ap) + (I - t\lambda A)Tz_t - (I - t\lambda A)p.$$
 (3.7)

Thus, using (3.1), (3.7) and Lemma 2.1, we obtain that

$$||z_{t} - p||^{q} \leq ||(I - t\lambda A)Tz_{t} - (I - t\lambda A)p||^{q}$$

$$+qt \langle u - \lambda Ap, j_{q}(z_{t} - p) \rangle$$

$$\leq \left(1 - t(q\eta\lambda - d_{q}(\lambda L)^{q})||z_{t} - p||^{q}$$

$$+qt \langle u - \lambda Ap, j_{q}(z_{t} - p) \rangle.$$

$$(3.8)$$

So, (3.8) implies that

$$||z_t - p||^q \le \frac{1}{q\eta\lambda - d_q(\lambda L)^q} \langle u - \lambda Ap, j_q(z_t - p) \rangle.$$
 (3.9)

From Lemma 3.4 we know that $\{z_t\}$ is bounded. Let $\{t_n\}_{n\geq 1}$ in $\left(0,\min\left\{1,\frac{1}{q\eta\lambda-d_q(L\lambda)^q}\right\}\right)$ be such that $\lim_{n\to\infty}t_n=0$ and set $z_n=z_{t_n}$. Then, defining $\Phi:E\to\mathbb{R}\cup\{+\infty\}$ by $\Phi(x)=\mu_n\|z_n-x\|^q$ for all $x\in E$ (for some Banach limit, μ , on ℓ_∞), we have that Φ is continuous, convex and $\lim_{\|x\|\to+\infty}\Phi(x)=+\infty$. Thus, setting

$$K = \Big\{ y \in E : \Phi(y) = \min_{x \in E} \Phi(x) \Big\},\,$$

then K is bounded closed convex and nonempty subset of E and since by Lemma 3.4, $\lim_{n\to\infty} ||z_n - Tz_n|| = 0$, we obtain using Lemma 2.1 that for some constant $M_0 > 0$ and for all $y \in K$,

$$\Phi(Ty) = \mu_{n} \|z_{n} - Ty\|^{q} = \mu_{n} \|Tz_{n} - Ty + z_{n} - Tz_{n}\|^{q}
\leq \mu_{n} (\|Tz_{n} - Ty\|^{q} + q\langle z_{n} - Tz_{n}, j_{q}(z_{n} - Ty)\rangle)
\leq \mu_{n} (\|Tz_{n} - Ty\|^{q} + \|z_{n} - Tz_{n}\|M_{0})
\leq \mu_{n} \|z_{n} - y\|^{q} + \mu_{n} \|z_{n} - Tz_{n}\|M_{0}
= \mu_{n} \|z_{n} - y\|^{q} = \Phi(y).$$
(3.10)

Thus, $T(K) \subset K$; that is, K is invariant under T. Since E is uniformly smooth real Banach space and thus every bounded closed convex nonempty subset of E has the fixed point property for nonexpansive mappings, then there exists $x' \in K$ such that Tx' = x'. Since x' is also a minimizer of Φ over E, it follows that for arbitrary $x \in E$ and for all $\xi \in (0,1)$, $\Phi(x') \leq \Phi(x' + \xi(x - x'))$. Lemma 2.1 gives

$$||z_{n} - x' - \xi(x - x')||^{q} \leq ||z_{n} - x'||^{q}$$

$$- q\xi \langle x - x', j_{q}(z_{n} - x' - \xi(x - x')) \rangle.$$
(3.11)

Inequality (3.11) implies that

$$\mu_n \left\langle x - x', j_q \left(z_n - x' - \xi(x - x') \right) \right\rangle \le 0. \tag{3.12}$$

Furthermore, since E is uniformly smooth, the duality mapping j_q is norm-to-weak* uniformly continuous on bounded subsets of E; and hence

$$\lim_{\xi \to 0} \left(\left\langle x - x', j_q(z_n - x') \right\rangle - \left\langle x - x', j_q(z_n - x' - \xi(x - x')) \right\rangle \right) = 0.$$

So, for all $\epsilon > 0$, there exists $\delta_{\epsilon} > 0$ such that for all $\xi \in (0, \delta_{\epsilon})$ and for all $n \in \mathbb{N}$, we have that

$$\langle x - x', j_q(z_n - x') \rangle - \langle x - x', j_q(z_n - x' - \xi(x - x')) \rangle < \epsilon.$$

This implies that for all $\xi \in (0, \delta_{\epsilon})$,

$$\mu_n \left\langle x - x', j_q(z_n - x') \right\rangle \le \epsilon + \mu_n \left\langle x - x', j_q(z_n - x' - \xi(x - x')) \right\rangle \le \epsilon$$

and since $\epsilon > 0$ is arbitrary, we obtain that

$$\mu_n \langle x - x', j_q(z_n - x') \rangle \le 0 \ \forall \ x \in E.$$

Hence, we have in particular, that for the vectors $u \in E$ and $2x' - \lambda Ax' \in E$

$$\mu_n \left\langle u - x', j_q(z_n - x') \right\rangle \le 0 \tag{3.13}$$

and

$$\mu_n \left\langle (2x' - \lambda Ax') - x', j_q(z_n - x') \right\rangle = \mu_n \left\langle x' - \lambda Ax', j_q(z_n - x') \right\rangle$$

$$\leq 0.$$
(3.14)

 $\leq 0.$ (3.14) Moreover, since $\{t_n\}_{n\geq 1}$ is in $\left(0,\min\left\{1,\frac{1}{q\eta\lambda-d_q(L\lambda)^q}\right\}\right)$ and $x'\in F(T)$, we obtain from (3.9) that

$$||z_{n} - x'||^{q} \leq \frac{1}{q\eta\lambda - d_{q}(\lambda L)^{q}} \langle u - \lambda Ax', j_{q}(z_{n} - x') \rangle$$

$$= \frac{1}{\omega} (\langle u - x', j_{q}(z_{n} - x') \rangle$$

$$+ \langle x' - \lambda Ax', j_{q}(z_{n} - x') \rangle), \qquad (3.15)$$

where $\omega = q\eta\lambda - d_q(\lambda L)^q$. So, from (3.15) (using (3.13), (3.14) and the linearity of Banach limit) we obtain that

$$\mu_n \|z_n - x'\|^q \le \frac{1}{\omega} \mu_n \left\langle u - x', j_q(z_n - x') \right\rangle + \frac{1}{\omega} \mu_n \left\langle x' - \lambda A x', j_q(z_n - x') \right\rangle \le 0.$$
 (3.16)

So, $\mu_n \|z_n - x'\|^q = 0$ and this implies that there exists a subsequence $\{z_{n_i}\}_{i \geq 1}$ of $\{z_n\}_{n \geq 1}$ such that $z_{n_i} \to x'$ as $i \to \infty$.

We now show that x' is a solution of the variational inequality (3.6). From (3.2), we obtain that

$$z_{n_i} = t_{n_i} u + (I - t_{n_i} \lambda A) T z_{n_i}.$$

This gives

$$\lambda A z_{n_i} - u = -\frac{1}{t_{n_i}} (z_{n_i} - T z_{n_i}) + \lambda (A z_{n_i} - A T x_{n_i}).$$
 (3.17)

Thus, for all $p \in F(T)$, we obtain from (3.17) that

$$\left\langle \lambda A z_{n_i} - u, j_q(z_{n_i} - p) \right\rangle = -\frac{1}{t_{n_i}} \left\langle z_{n_i} - T z_{n_i}, j_q(z_{n_i} - p) \right\rangle$$
$$+ \lambda \left\langle A z_{n_i} - A T x_{n_i}, j_q(z_{n_i} - p) \right\rangle$$
(3.18)

Since T is nonexpansive, we have that (I-T) is accretive. Thus,

$$\left\langle z_{n_i} - Tz_{n_i}, j_q(z_{n_i} - p) \right\rangle = \left\langle (I - T)z_{n_i} - (I - T)p, j_q(z_{n_i} - p) \right\rangle \ge 0.$$

So, (3.18) gives

$$\left\langle \lambda A z_{n_i} - u, j_q(z_{n_i} - p) \right\rangle \le \lambda \left\langle A z_{n_i} - A T x_{n_i}, j_q(z_{n_i} - p) \right\rangle$$
 (3.19)

Using (3.19), we obtain (for some constant $M_2 > 0$) that

$$\left\langle \lambda A x' - u, j_{q}(x' - p) \right\rangle = \left\langle \lambda A z_{n_{i}} - u, j_{q}(z_{n_{i}} - p) \right\rangle$$

$$-\left\langle \lambda A z_{n_{i}} - \lambda A x', j_{q}(z_{n_{i}} - p) \right\rangle$$

$$+\left\langle u - \lambda A x', j_{q}(z_{n_{i}} - p) - j_{q}(x' - p) \right\rangle$$

$$\leq M_{2} (\|A z_{n_{i}} - A T z_{n_{i}}\| + \|\lambda A z_{n_{i}} - \lambda A x'\|)$$

$$+\left\langle u - \lambda A x', j_{q}(z_{n_{i}} - p) - j_{q}(x' - p) \right\rangle$$

$$(3.20)$$

Hence, since A, T are continuous, $z_{n_i} \to x' \in F(T)$ as $i \to \infty$ and the duality mapping is norm-to-weak* uniformly continuous on bounded subsets of E, we obtain from (3.20) that (as $i \to \infty$)

$$\langle \lambda Ax' - u, j_q(x' - p) \rangle \leq 0 \ \forall \ p \in F(T).$$

So, $x' \in F(T)$ is a solution (3.6).

Finally, we show that $\{z_n\}_{n\geq 1}$ converges to x'. Suppose that there is another subsequence $\{z_{n_l}\}_{l\geq 1}$ of $\{z_n\}_{n\geq 1}$ such that $z_{n_l} \to z' \in E$ as $l \to \infty$. Then by (c) of Lemma 3.4, we have that $z' \in F(T)$.

Similar argument (from (3.17) to (3.20) with z_{n_i} replaced by z_{n_l}) shows that

$$\langle \lambda Az' - u, j_q(z' - p) \rangle \leq 0 \ \forall \ p \in F(T).$$

Uniqueness of solution of (3.6) shows that x' = z'. Hence, $z_n =$ $z_{t_n} \to x'$ and $n \to \infty$. Consequently, we obtain that the path $\{z_t\}$ given by (3.2) converges strongly (as $t \to 0$) to unique $x' \in F(T)$ which solves the variational inequality (3.6). This completes the proof. \square

The following corollaries follow from our discussion so far.

Corollary 3.6. Let E be a real L_p or (ℓ_p) space. Let A and T be as in Lemma 3.3 and $\{z_t\}$ satisfy (3.2), then we obtain the same conclusion as in Theorem 3.5.

Remark 3.7. Since every Hilbert space is a 2-uniformly smooth Banach space, it follows from Lemma 2.6 that if E = H is a Hilbert space, then $d_q = d_2 = 1$. Furthermore, we recall that in a Hilbert space H, the duality mapping coincide with the identity mapping on H. Thus, we have the following corollary.

Corollary 3.8. Let H be a real Hilbert space, $T: H \to H$ a nonexpansive mapping such that $F(T) \neq \emptyset$ and $A: H \rightarrow H$ be an L-Lipschitzian strongly accretive mapping with a constant $\eta > 0$. Let $u \in H$ be fixed. Suppose that $0 < \lambda < \frac{2\eta}{L^2}$ and $t \in$ $\left(0,\min\left\{1,\frac{1}{2\eta\lambda-(\lambda L)^2}\right\}\right)$, then there exists a unique $z_t\in H$ satisfying (3.2). Moreover, $\{z_t\}$ converges strongly (as $t \to 0$) to a unique solution $x' \in F(T)$ of the variational inequality $\langle u - \lambda Ax', p - x' \rangle \leq$ $0 \ \forall \ p \in F(T).$

Corollary 3.9. Let E be a strictly convex q-uniformly smooth real Banach space, let $A: E \to E$ be an L-Lipschitzian strongly accretive mapping with a constant $\eta > 0$. Let $T_i : E \to E, i = 1, 2, ...$ be a countable family of nonexpansive mappings such that F :=

$$\bigcap_{i=1}^{\infty} F(T_i) \neq \emptyset. \ \ Let \ T := \sum_{i=1}^{\infty} \sigma_i T_i, \ \ where \ \{\sigma_i\}_{i \geq 1} \subset (0,1) \ \ is \ \ such$$

that $\sum_{i=1}^{\infty} \sigma_i = 1$. Let $u \in E$ be fixed. Suppose that the conditions of Lemma 3.3 are satisfied, then there exist a unique $z_t \in E$ satisfying $z_t = tu + (I - t\lambda A)Tz_t$. Moreover, $\{z_t\}$ converges strongly (as

 $t \to 0$) to a unique solution $x' \in F(T)$ of the variational inequality $\langle (u - \lambda Ax', j(p - x')) \rangle \leq 0 \ \forall \ p \in F.$

Proof. By Lemma 2.3, $T := \sum_{i=1}^{\infty} \sigma_i T_i$ is well defined, nonexpansive and F(T) = F. The rest follows as in the proof of Theorem 3.5. \square Corollary 3.10. Let E be a strictly convex q-uniformly smooth real Banach space, let $A: E \to E$ be an L-Lipschitzian strongly accretive mapping with a constant $\eta > 0$. Let $T_i: E \to E, i = 1, 2, ..., m$ be a finite family of nonexpansive mappings such that $F := \bigcap_{i=1}^m F(T_i) \neq \emptyset$. Let $T := \sum_{i=1}^m \sigma_i T_i$, where $\{\sigma_i\}_{i=1}^m \subset (0,1)$ is such that $\sum_{i=1}^m \sigma_i = 1$. Let $u \in E$ be fixed. Suppose that the conditions of Lemma 3.3 are satisfied, then there exist a unique $z_t \in E$ satisfying $z_t = tu + (I - t\lambda A)Tz_t$. Moreover, $\{z_t\}$ converges strongly to a unique solution $x' \in F(T)$ of the variational inequality $\langle u - \lambda Ax', j(p - x') \rangle \leq 0 \ \forall \ p \in F$.

4. Strong convergence of explicit iteration scheme for finite family of nonexpansive mappings.

In the sequel, we shall assume that $0 < \lambda < \left(\frac{q\eta}{L^q d_q}\right)^{\frac{1}{q-1}}$, $\alpha_n \in \left(0, \min\left\{1, \frac{1}{q\eta\lambda - d_q(L\lambda)^q}\right\}\right) \ \forall \ n \in \mathbb{N}$, $\lim_{n \to \infty} \alpha_n = 0$, $\sum_{n=1}^{\infty} \alpha_n = \infty$ and $\lim_{n \to \infty} \frac{\alpha_{n+r} - \alpha_n}{\alpha_{n+r}} = 0 \iff \lim_{n \to \infty} \frac{\alpha_n}{\alpha_{n+r}} = 1$.

Theorem 4.1. Let E be a q-uniformly smooth real Banach space which admits weakly sequentially continuous generalized duality mapping, let $A: E \to E$ be an L-Lipschitzian strongly accretive mapping with a constant $\eta > 0$. Let $T_i: E \to E, i = 1, 2, ..., r$ be a finite family of nonexpansive mappings such that $\Omega := \bigcap_{i=1}^r F(T_i) \neq \emptyset$. Let $u \in E$ be fixed and $\{x_n\}_{n\geq 1}$ be a sequence in E generated iteratively by

 $x_0 \in E, x_{n+1} = \alpha_{n+1}u + (I - \alpha_{n+1}\lambda A)T_{n+1}x_n, \ n \geq 0,$ where $T_n = T_{n \bmod r}$ and mod function takes values in $\{1, 2, ..., r\}$.
Suppose that $\Omega = F(T_rT_{r-1}...T_1) = F(T_1T_{r-1}...T_2) = ...$

= $F(T_{r-1}...T_1T_r)$, then, $\{x_n\}_{n\geq 0}$ converges strongly to a solution of the variational inequality

$$\langle u - \lambda A x', j_q(p - x') \rangle \le 0 \ \forall \ p \in \Omega.$$
 (4.2)

.

Proof. Since the mapping $G = T_1T_2...T_r : E \to E$ is nonexpansive, then following the method of proof of Theorem 3.5, we have that for all $t \in \left(0, \min\left\{1, \frac{1}{q\eta\lambda - d_q(L\lambda)^q}\right\}\right)$, there exists unique $z_t \in E$ which satisfies $z_t = tu + (I - t\lambda A)Gz_t$, moreover, $\{z_t\}$ converges to a unique solution $x' \in F(G) = \Omega$ of (4.2). We now show that the explicit scheme (4.1) converges strongly to x'. We start by showing first that $\{x_n\}_{n\geq 0}$ is bounded. Now, let $p \in \Omega$ and set

$$r := \max \left\{ \|x_0 - p\|, \frac{q\|u - \lambda Ap\|}{q\eta\lambda - d_q(L\lambda)^q} \right\}.$$

We show by induction that

$$||x_n - p|| \le r \ \forall \ n \ge 0. \tag{4.3}$$

Observe that for n = 0 (4.3) clearly holds. Assume for $n \ge 0$ that (4.3) is true. We show that (4.3) is also true for n + 1. Suppose for contradiction that this does not hold, then

$$||x_{n+1} - p|| > r \ge ||x_n - p||.$$

Thus, using (3.1), (4.1) and Lemma 2.1, we obtain that

$$||x_{n+1} - p||^{q} = ||\alpha_{n+1}u + (I - \alpha_{n+1}\lambda A)T_{n+1}x_{n} - p||^{q}$$

$$= ||(I - \alpha_{n+1}\lambda A)T_{n+1}x_{n} - (I - \alpha_{n+1}\lambda A)p + \alpha_{n+1}(u - \lambda Ap)||^{q}$$

$$\leq ||(I - \alpha_{n+1}\lambda A)T_{n+1}x_{n} - (I - \alpha_{n+1}\lambda A)p||^{q}$$

$$+q\alpha_{n+1}\left\langle u - \lambda Ap, j_{q}(x_{n+1} - p)\right\rangle$$

$$\leq \left(1 - \alpha_{n+1}(q\eta\lambda - d_{q}(L\lambda)^{q})\right)||x_{n} - p||^{q}$$

$$+q\alpha_{n+1}||u - \lambda Ap||.||x_{n+1} - p||^{q-1}$$

$$< \left(1 - \alpha_{n+1}(q\eta\lambda - d_{q}(L\lambda)^{q})\right)||x_{n+1} - p||^{q}$$

$$+q\alpha_{n+1}||u - \lambda Ap||.||x_{n+1} - p||^{q-1}. \tag{4.4}$$

Inequality (4.4) implies that

$$||x_{n+1} - p|| < \frac{q||u - \lambda Ap||}{q\eta\lambda - d_q(L\lambda)^q},$$

a contradiction. Hence, the sequence $\{x_n\}_{n\geq 1}$ is bounded. Consequently,

 $\{T_{n+1}x_n\}_{n\geq 1}$ and $\{AT_{n+1}x_n\}_{n\geq 1}$ are also both bounded.

Furthermore, using (4.1),

$$x_{n+r} - x_n = (\alpha_{n+r} - \alpha_n)u + (I - \alpha_{n+r}\lambda A)T_{n+r}x_{n+r-1}$$

$$-(I - \alpha_{n+r}\lambda A)T_nx_{n-1} - (\alpha_{n+r} - \alpha_n)\lambda AT_nx_{n-1}.$$
(4.5)

Thus, using the fact that $T_{n+r} = T_n$, we obtain from (4.5) using Lemma 2.1 that for some constant $M_5 > 0$,

$$||x_{n+r} - x_n||^q \leq \left(1 - \alpha_{n+r} (q\eta\lambda - d_q(L\lambda)^q)\right) ||x_{n+r-1} - x_{n-1}||^q + |\alpha_{n+r} - \alpha_n| M_5$$

$$= \left(1 - \alpha_{n+r} (q\eta\lambda - d_q(L\lambda)^q)\right) ||x_{n+r-1} - x_{n-1}||^q + M_5 \alpha_{n+r} \frac{|\alpha_{n+r} - \alpha_n|}{\alpha_{n+r}}$$
(4.6)

So, using (4.6), we obtain from Lemma 2.2 that

$$\lim_{n \to \infty} ||x_{n+r} - x_n|| = 0 \tag{4.7}$$

Furthermore, from the recursion formula (4.1) and for some constant $M_6 > 0$, we obtain

$$||x_{n+1} - T_{n+1}x_n|| = \alpha_{n+1}||u - \lambda AT_{n+1}x_n|| \le \alpha_{n+1}M_6.$$

Thus,

$$\lim_{n \to \infty} ||x_{n+1} - T_{n+1}x_n|| = 0.$$

Similar argument shows that

$$x_{n+r} - T_{n+r}x_{n+r-1} \to 0 \text{ as } n \to \infty.$$
 (4.8)

Thus, we obtain using (4.8) and the fact that T_n is nonexpansive that

$$x_{n+r} - T_{n+r}x_{n+r-1} \to 0 \text{ as } n \to \infty$$

$$T_{n+r}x_{n+r-1} - T_{n+r}T_{n+r-1}x_{n+r-2} \to 0 \text{ as } n \to \infty$$

$$T_{n+r}T_{n+r-1}x_{n+r-2} - T_{n+r}T_{n+r-1}T_{n+r-2}x_{n+r-3} \to 0 \text{ as } n \to \infty$$

$$\vdots$$

$$T_{n+r}...T_{n+2}x_{n+1} - T_{n+r}...T_{n+2}T_{n+1}x_n \to 0 \text{ as } n \to \infty.$$

Adding up these yields

$$x_{n+r} - T_{n+r} ... T_{n+2} T_{n+1} x_n \to 0 \text{ as } n \to \infty.$$
 (4.9)

But,

$$||x_n - T_{n+r}...T_{n+2}T_{n+1}x_n|| \le ||x_n - x_{n+r}|| + ||x_{n+r} - T_{n+r}...T_{n+2}T_{n+1}x_n|| (4.10)$$

Thus, using (4.7), (4.9) and (4.10), we get that

$$\lim_{n \to \infty} ||x_n - T_{n+r}...T_{n+2}T_{n+1}x_n|| = 0.$$
(4.11)

Next, we show that

$$\limsup_{n \to \infty} \left\langle u - \lambda A x', j_q(x_n - x') \right\rangle \le 0.$$

Let $\{x_{n_k}\}_{k\geq 1}$ be a subsequence of $\{x_n\}_{n\geq 1}$ such that

$$\lim \sup_{n \to \infty} \left\langle u - \lambda A x', j_q(x_n - x') \right\rangle = \lim_{k \to \infty} \left\langle u - \lambda A x', j_q(x_{n_k} - x') \right\rangle.$$

Since $\{x_n\}_{n\geq 1}$ is bounded and since E is a reflexive real Banach space, there exists a subsequence $\{x_{n_{k_m}}\}_{m\geq 1}$ of $\{x_{n_k}\}_{k\geq 1}$ such that $\{x_{n_{k_m}}\}_{m\geq 1}$ converges weakly to some $p^*\in E$. Without loss of generality, we may assume that n_{k_m} is such that $T_{n_{k_m}}=T_i$ for some $i\in\{1,2,...,r\}$, for all $m\geq 1$. It therefore follows from (4.11) that

$$\lim_{m \to \infty} ||x_{n_{k_m}} - T_{i+r} ... T_{i+2} T_{i+1} x_{n_{k_m}}|| = 0.$$

So, by Lemma 2.7, $p^* \in F(T_{i+r}...T_{i+2}T_{i+1}) = \Omega$. Thus, since E has weakly sequential continuous generalized duality mapping, we have that

$$\limsup_{n \to \infty} \left\langle u - \lambda A x', j_q(x_n - x') \right\rangle = \lim_{k \to \infty} \left\langle u - \lambda A x', j_q(x_{n_k} - x') \right\rangle$$

$$= \lim_{m \to \infty} \left\langle u - \lambda A x', j_q(x_{n_{k_m}} - x') \right\rangle$$

$$= \left\langle u - \lambda A x', j_q(p^* - x') \right\rangle \le 0$$
(4.12)

Thus, setting

$$\theta_n = \max \left\{ 0, \left\langle u - \lambda A x', j_q(x_n - x') \right\rangle \right\},$$

then it is easy to see that $\lim_{n\to\infty} \theta_n = 0$. Furthermore, we obtain from the recursion formula (4.1) using Lemma 2.1 that

$$||x_{n+1} - x'||^{q} \leq \left(1 - \alpha_{n+1} (q\eta\lambda - d_{q}(\lambda L)^{q})\right) ||x_{n} - x'||^{q} + q\alpha_{n+1} \left\langle u - \lambda Ax', j_{q}(x_{n+1} - x') \right\rangle$$

$$\leq \left(1 - \alpha_{n+1} (q\eta\lambda - d_{q}(\lambda L)^{q})\right) ||x_{n} - x'||^{q} + \delta_{n}$$

 $\forall n \geq 0$, where $\delta_n = \alpha_{n+1}q(q\eta\lambda - d_q(\lambda L)^q)\left[\frac{\theta_{n+1}}{q\eta\lambda - d_q(\lambda L)^q}\right]$, which is clear $o(\alpha_{n+1})$. Hence, by Lemma 2.2, $\{x_n\}_{n\geq 1}$ converges strongly to $x' \in \Omega$ which is a unique solution of (4.2). This completes the Proof. \square

Remark 4.2. We note that some authors (see e.g., Xu [45]) had made the assumption that

$$\Omega = F(T_r T_{r-1} ... T_1) = F(T_1 T_{r-1} ... T_2) = ... = F(T_{r-1} ... T_1 T_r).$$

We now consider a situation where this condition is dispensed with.

Example 4.3. Let E be a strictly convex q-uniformly smooth real Banach space which admits weakly sequentially continuous generalized duality mapping, let $A: E \to E$ be an L-Lipschitzian strongly accretive mapping with a constant $\eta > 0$. Let $T_i: E \to E$, i = 1, 2, ..., r be a finite family of nonexpansive mappings such that $\Omega := \bigcap_{i=1}^r F(T_i) \neq \emptyset$ and $S_i = (1 - \omega_i)I + \omega_i T_i, i = 1, 2, ..., r$. Let $u \in E$ be fixed and let $\{x_n\}_{n\geq 1}$ be a sequence in E generated iteratively by

$$x_0 \in E, x_{n+1} = \alpha_{n+1}u + (I - \alpha_{n+1}\lambda A)S_{n+1}x_n, \ n \ge 0,$$
 (4.13)
where $S_n = S_{n \bmod r}$ and mod function takes values in $\{1, 2, ..., r\}$,

where $S_n = S_{n \mod r}$ and mod function takes values in $\{1, 2, ..., r\}$, then $\{x_n\}_{n\geq 0}$ converges strongly to a solution of the variational inequality (4.2)

Proof. By Lemma 2.4,
$$\bigcap_{i=1}^r F(S_i) = \bigcap_{i=1}^r F(T_i)$$
 and $\bigcap_{i=1}^r F(S_i)$
= $F(S_r S_{r-1} ... S_1) = F(S_1 S_{r-1} ... S_2) = ... = F(S_{r-1} ... S_1 S_r)$. The rest follows as in the proof of Theorem 4.1. \square

Corollary 4.4. Let E be a q-uniformly smooth real Banach space which admits weakly sequentially continuous generalized duality mapping, let $A: E \to E$ be an L-Lipschitzian strongly accretive mapping with a constant $\eta > 0$. Let $T: E \to E$, be a nonexpansive

mapping such that $F(T) \neq \emptyset$. Let $u \in E$ be fixed and let $\{x_n\}_{n\geq 1}$ be a sequence in E generated iteratively by

$$x_0 \in E, x_{n+1} = \alpha_{n+1}u + (I - \alpha_{n+1}\lambda A)Tx_n, \ n \ge 0,$$
 (4.14)

then $\{x_n\}_{n\geq 0}$ converges strongly to a unique $x'\in F(T)$ which is a solution of the variational inequality (3.6)

Proof. Follows as in the proof of Theorem 4.1 using Theorem 3.5. \Box

Remark 4.5. We remark that corollaries synonymous to Corollaries 3.6, 3.8, 3.9 and 3.10 are obtainable in this section. But we must note, however, that though Theorem 4.1, Corollary 4.3 and Corollary 4.4 hold in the real sequence space ℓ^q , they do not hold in $L^q(\mathbb{R})$ for $1 < q < +\infty$, $q \neq 2$ since $L^q(\mathbb{R})$, $q \neq 2$ do not possess weakly sequentially continuous duality mapping. All our theorems thus hold in real Hilbert space.

5. Applications

CONVERGENCE THEOREM FOR FAMILIES OF STRICTLY PSEUDOCONTRACTIVE MAPPINGS.

Let E be a normed space. A mapping $T: E \to E$ is called k-strictly pseudocontractive if and only if there exists a real constant k > 0 such that for all $x, y \in D(T)$ there exists $j(x - y) \in J(x - y)$ such that

$$\langle Tx - Ty, j(x - y) \rangle \le ||x - y||^2 - k||x - y - (Tx - Ty)||^2$$
. (5.1)

Without loss of generality we may assume that $k \in (0,1)$. If I denotes the identity operator, then (5.1) can be re-written as

$$\langle (I-T)x - (I-T)y, j(x-y) \rangle \ge k ||(I-T)x - (I-T)y)||^2.(5.2)$$

In Hilbert spaces, (5.1) (or equivalently (5.2)) is equivalent to the inequality

$$||Tx - Ty||^2 \le ||x - y||^2 + \beta ||(I - T)x - (I - T)y||^2,$$

where $\beta = (1 - k) < 1$. It was shown in [30] that if T is k-strictly pseudocontractive, then the following inequality holds

$$\langle (I-T)x - (I-T)y, j_q(x-y) \rangle$$

 $\geq k^{q-1} ||(I-T)x - (I-T)y)||^q.$ (5.3)

Thus, if E is a q-uniformly smooth real Banach space; and T: $E \to E$ is a k-strictly pseudocontractive mapping, then for the

map $T_a := (1 - a)I + aT$): $E \to E$ (where I is the identity map of E and a > 0), we obtain by Lemma 2.5 using (5.3) that:

$$||T_{a}x - T_{a}y||^{q} = ||x - y - a((I - T)x - (I - T)y)||^{q}$$

$$\leq ||x - y||^{q} - qa((I - T)x - (I - T)y, j_{q}(x - y))$$

$$+d_{q}a^{q}||(I - T)x - (I - T)y||^{q}$$

$$\leq ||x - y||^{q} - a(k^{q-1}q - d_{q}a^{q-1})||Ax - Ay||^{q},$$

where A = (I - T). If a is such that $0 < a < \left(\frac{qk^{q-1}}{d_q}\right)^{\frac{1}{q-1}}$, we have that the mapping T_a is nonexpansive. It is also easy to see that the fixed point set of T_a and that of T coincide.

Thus, we have the following theorem

Theorem 5.1. Let E be a q-uniformly smooth real Banach space which admits weakly sequential continuous generalized duality mapping, let $A: E \to E$ be an L-Lipschitzian strongly accretive mapping with a constant $\eta > 0$. Let $T_i: E \to E, i = 1, 2, ..., r$ be a finite family of k-strictly pseudocontractive mappings such that $\Omega^* := \bigcap_{i=1}^r F(T_i) \neq \emptyset$. Let $\{a_i\}_{i=1}^r$ be such that $0 < a_i < \left(\frac{qk^{q-1}}{d_q}\right)^{\frac{1}{q-1}}, i = 1, 2, ..., r$ and define $T_{a_i} = (1 - a_i)I + a_iT_i$. Let $u \in E$ be fixed and $\{x_n\}_{n\geq 1}$ be a sequence in E generated iteratively by

$$x_0 \in E, x_{n+1} = \alpha_{n+1}u + (I - \alpha_{n+1}\lambda A)T_{a_{n+1}}x_n, \ n \ge 0,$$
 (5.4)

where $T_{a_n} = T_{a_{n \bmod r}}$ and mod function takes values in $\{1, 2, ..., r\}$. Suppose that $\Omega^* = F(T_{a_r}T_{a_{r-1}}...T_{a_1}) = F(T_{a_1}T_{a_{r-1}}...T_{a_2}) = ... = F(T_{a_{r-1}}...T_{a_1}T_{a_r})$, then, $\{x_n\}_{n\geq 0}$ converges strongly to a solution of the variational inequality

$$\left\langle u - \lambda A x', j_q(p - x') \right\rangle \le 0 \ \forall \ p \in \Omega^*.$$
 (5.5)

Corollary 5.2. Let E be a strictly convex q-uniformly smooth real Banach space which admits weakly sequentially continuous generalized duality mapping, let $A: E \to E$ be an L-Lipschitzian strongly accretive mapping with a constant $\eta > 0$. Let $T_i: E \to E, i = 1, 2, ..., r$ be a finite family of k-strictly pseudocontractive mappings such that $\Omega := \bigcap_{i=1}^r F(T_i) \neq \emptyset$. Let $\{a_i\}_{i=1}^r$ be such that $0 < a_i < \left(\frac{qk^{q-1}}{d_q}\right)^{\frac{1}{q-1}}$, i = 1, 2, ..., r and define $T_{a_i} = (1 - a_i)I + a_iT_i$ and

 $S_{a_i} = (1 - \omega_i)I + \omega_i T_{a_i}, i = 1, 2, ..., r.$ Let $u \in E$ be fixed and let $\{x_n\}_{n\geq 1}$ be a sequence in E generated iteratively by

$$x_0 \in E, x_{n+1} = \alpha_{n+1}u + (I - \alpha_{n+1}\lambda A)S_{a_{n+1}}x_n, \ n \ge 0,$$
 (5.6)

where $S_{a_n} = S_{n \bmod r}$ and mod function takes values in $\{1, 2, ..., r\}$. Then, $\{x_n\}_{n\geq 0}$ converges strongly to a solution of the variational inequality (5.5).

Corollary 5.3. Let E be a q-uniformly smooth real Banach space which admits weakly sequentially continuous generalized duality mapping, let $A: E \to E$ be an L-Lipschitzian strongly accretive mapping with a constant $\eta > 0$. Let $T: E \to E$, be a k-strictly pseudocontractive mapping such that $F(T) \neq \emptyset$. For some $0 < a < \left(\frac{qk^{q-1}}{d_q}\right)^{\frac{1}{q-1}}$ and define $T_a = (1-a)I + aT$. Let $u \in E$ be fixed and let $\{x_n\}_{n\geq 1}$ be a sequence in E generated iteratively by

$$x_0 \in E, x_{n+1} = \alpha_{n+1}u + (I - \alpha_{n+1}\lambda A)T_ax_n, \ n \ge 0,$$
 (5.7)

then, $\{x_n\}_{n\geq 0}$ converges strongly to a unique $x'\in F(T)$ which is a solution of the variational inequality (3.6)

Remark 5.4. Prototype for our iteration parameter $\{\alpha_n\}_{n\geq 1}$ (see e.g. [45]) is given by

$$\alpha_n = \begin{cases} \frac{1}{\sqrt{n}} & \text{if } n \text{ is odd,} \\ \frac{1}{\sqrt{n-1}} & \text{if } n \text{ is even.} \end{cases}$$

If we assume that r is odd, since the case r being even is similar, it is not difficult to see that

$$\frac{\alpha_n}{\alpha_{n+r}} = \begin{cases} \frac{\sqrt{n+r}-1}{\sqrt{n}} & if \ n \text{ is odd,} \\ \frac{\sqrt{n+r}}{\sqrt{n}-1} & if \ n \text{ is even.} \end{cases}$$

Remark 5.5. It is easy to see that Corollary 4.3 is an obvious improvement on the corresponding results of [45] in the sense that the condition

$$\Omega = F(T_r T_{r-1} ... T_1) = F(T_1 T_{r-1} ... T_2) = ... = F(T_{r-1} ... T_1 T_r)$$

imposed in [45] is dispensed with.

Remark 5.6. When E = H, a Hilbert space, $\lambda = 1$ and A is a bounded linear strongly positive operator, our iteration process (4.1) reduces to the iteration scheme studied by Xu [45]. If the fixed vector $u \in E$ is identically equal to the zero vector of H; if

the mapping A a strongly monotone operator; and we consider a single nonexpansive mapping, (4.1) reduces to the scheme studied by Yamada [46]. We recall that the results of Xu [45] and Yamada [46] remain in Hilbert spaces. Our theorems, therefore, complement the results of these authors.

Remark 5.7. It is well known that in a uniformly convex and uniformly smooth real Banach space, $x' \in F(T)$ is a solution of variational inequality $\langle (\gamma f - \mu A)x', y - x' \rangle \leq 0 \ \forall \ y \in F(T)$ if and only if $P_{F(T)} (I - (\gamma f - \mu A))x' = x'$, where $P_{F(T)}$ is the metric projection of E onto F(T). Furthermore, if E = H is a Hilbert space, we can easily show that if $0 < \mu < \frac{2\eta}{L^2}$ (where L is the Lipschitz constant of the strongly accretive operator A), then the mapping $P_{F(T)}(I - (\gamma f - \mu A))$ is a strict contraction on H (using the fact that the metric projection $P_{F(T)}$ is nonexpansive in this case). Thus, Banach contraction mapping principle gives existence of a unique $x^* \in H$ such that $P_{F(T)}(I - (\gamma f - \mu A)x^* = x^*$. One may therefore wonder why the Picard's iterative method given by

(**)
$$x_0 \in H$$
, $x_{n+1} = P_{F(T)} (I - (\gamma f - \mu A)x_n, n \ge 0$

was not employed for this problem in Hilbert space. It happens that theoretically, the Picard's iteration method (**) works, but in application, it seems difficult to be used since the projection operator $P_{F(T)}$ is not readily handy. Besides, we must not that the projection operator is not necessarily nonexpansive in spaces more general than Hilbert space. Hence, construction of iterative methods which do not involve metric projections become a necessity.

ACKNOWLEDGEMENT

The author completed this work when he visited African University of Science and Technology (AUST), Abuja, Nigeria as a visiting Associate Professor.

References

- [1] A. Aleyner and S. Reich, An explicit construction of sunny nonexpansive retracions in Banach spaces, *Hindawi Publishing Corporation-Fixed Point Theory and Applications*, 2005:3 (2005), 295-305, DOI:10.1155/FPTA.2005.295.
- [2] H. H. Bauschke, The Approximation of fixed points of compositions of nonexpansive mappings in Hilbert spaces, J. Math. Anal. Appl. 202 (1996) 150-159.

- [3] T. D. Benavides, G. L. Acedo and H. K. Xu, Construction of sunny non-expansive retractions in Banach spaces, *Bull. Austral. Math. Soc.* vol. 66 (2002), 9-16.
- [4] V. Berinde, Iterative approximation of fixed points, *Editura Efemeride Baia Mare*, 2002.
- [5] F. E. Browder, Convergence theorems for sequences of nonlinear operators in Banach spaces, *Math. Zeitschr.* 100 (1967) 201-225.
- [6] F. E. Browder, Fixed point theorems for nonlinear semicontractive mappings in Banach spaces, Archive for Rat. Mech. and Anal. 21 (1966) 259-269.
- [7] F. E. Browder and D. G. De Figueirado, J-monotone nonlinear operators in Banach spaces, Konk. Nederl. Akadi. Wetesch. 69 (1966) 412-420.
- [8] R. E. Bruck; Jr. Nonexpansive projections on subsets of Banach space, Pacific J. Math. 47 (1973), 341-355.
- [9] R. E. Bruck, JR., Nonexpansive Retracts of Banach spaces, Bull. Amer. Math. Soc., 76 (1970), 384-386.
- [10] R. E. Bruck, JR., Nonexpansive projections on subsets of Banach spaces, Pacific Journal of Mathematics, vol. 47, no.2 (1973), 341-355.
- [11] R. E. Bruck, Jr., Properties of Fixed point sets of nonexpansive mappings in Banach spaces, *Trans. Amer. Math. Soc.* **179** (1973), 251-262.
- [12] C. Byrne, A unified treatment of some iterative algorithms in signal processing and image construction, *Inverse problems* **20** (2004) 103-120.
- [13] C. E. Chidume, Geometric properties of Banach spaces and nonlinear iterations, Springer Verlag Series: Lecture Notes in Mathematics, Vol. 1965 (2009), ISBN 978-1-84882-189-7.
- [14] F. Deutch, I. Yamada, Minimizing certain convex functions over the intersection of the fixed point sets of nonexpansive mappings, *Numerical Functional Analysis and Optimization* 19 (1998) 33-56.
- [15] J. P. Gossez and E. Lami Dozo, Some geometric properties related to fixed point theory for nonexpansive mappings, *Pacific J. Math.* 40 (1972), 565-573.
- [16] B. Halpern, Fixed points of nonexpanding maps, Bulletin of the American Mathematical Society, 73 (1967), 957-961.
- [17] H. Iiduka and W. Takahashi, Strong convergence theorems for nonexpansive mappings and inverse-strongly monotone mappings, *Nonlinear Anal.* 61 (2005), 341-350.
- [18] S. Ishikawa, Fixed point by a new iteration method, *Proc. Amer. Math. Soc.* 44 (1974), 147-150.
- [19] T. C. Lim, H. K. Xu and Z. B. Xu, Some L_P inequalities and their applications to fixed point theory and approximation theory, in progress in Approximation theory (P. Nevai and A. Pinkus, Eds.), pp. 609-624, Academic press, 1991.
- [20] M. Lin and R. Sine, Contractive projections on the fixed point set of L_{∞} contractions, *Colloquium Mathematicum*, vol. LXII (1991) FASC1.
- [21] P. L. Lions, Approximation de points fixes de contractions, Computes rendus de l'academie des sciences, serie I-mathematique, 284 (1997) 1357-1359.

- [22] Y. Liu, A general iterative method for equilibrium problems and strict pseudo-contractions in Hilbert spaces, *Nonlinear Analysis*, *TMA* 71 (2009) 4852-4861.
- [23] W. R. Mann, Mean value methods in iteration, *Proc. Amer. Math. Soc.* 4 (1953) 506-510.
- [24] G. Marino, H. K. Xu, A general iterative method for nonexpansive mappings in Hilbert spaces, *J. Math. anal. Appl.* 318 (2006) 43-52.
- [25] R. E. Megginson, An introduction to Banach space theory, Springer-Verlag, New York, Inc., 1998.
- [26] A. Moudafi, Viscosity approximation methods for fixed-points problems, J. Math. Anal. Appl. 241 (2000) 46-55.
- [27] E. U. Ofoedu, Iterative approximation of a common zero of a countably infinite family of *m*-accretive operators in Banach spaces, *Hindawi-Fixed* point theory and applications, doi:10.1155/2008/325792.
- [28] E. U. Ofoedu, Y. Shehu and J. N. Ezeora, Solution by iteration of nonlinear variational inequalities involving finite family of asymptotically nonexpansive mappings and monotone mappings, *PanAmer. Math. J.* 18 (2008) (4), 61-75.
- [29] Z. Opial, Weak conergence of the sequence of successive approximations for nonxpansive mappings, *Bulletin of the Australian Mathematical Society* **73** (1967), 591-597.
- [30] M. O. Osilike and A. Udomene, Demiclosedness principle and convergence theorems for strictly pseudocontractive mappings of Browder-Petryshyn type, J. Math. Anal. Appl. 256 (2001), 431-445.
- [31] C. I. Polilchuk and R. J. Mammone, Image recovery by convex projections using a least-square constraint, *J. Opt. Soc. Amer.* A7 (1990) 517-521.
- [32] S. Reich, Weak convergence theorems for nonexpansive mappings in Banach spaces, J. Math. Anal. Appl. 67 (1979), 274-276.
- [33] S. Reich, Extension problems for accretive sets in Banach spaces, J. Functional Analysis 26 (1977), 378-395.
- [34] S. Reich, Strong convergence theorems for resolvents of accretive operators in Banach spaces, *J. Math. Anal. Appl.*, 75 (1980), 287-292.
- [35] B. E. Rhoades, Fixed point iterations for certain nonlinear mappings, J Math. Anal. Appl. 183 (1994) 118-120.
- [36] R. T. Rockefellar, Monotone operators and proximal point algorithm, SIAM, J. Control Optim. 14 (1976), 877-898.
- [37] J. Schu, Iterative construction of fixed points of asymptotically nonexpansive mappings, J. Math. Anal. Appl. 158 (1991), 407-413.
- [38] J. Schu, Weak and strong convergence of fiexd points of asymptotically nonexpansive mappings, *Bull. Austral. Math. Soc.* **43** (1991), 153-159.
- [39] S. Shioji, W. Takahashi; Strong convergence of approximated sequences for nonexpansive mappings in Banach spaces, *Proc. Amer. Math. Soc.* 125 (1997), 3641-3645.
- [40] M. Tian, A general iterative algorithm for nonexpansive mappings in Hilbert spaces, *Nonlinear Analysis* (2010), doi: 10.1016/j.na.2010.03.058.
- [41] R. Wittmann, Approximation of fixed points of nonexpansive mappings, *Archiv der mathematik*, 58 (1992) 486-491.

- [42] D. Wang, Y. Song and X. Ma, Iterative methods for finite family of non-expansive mappings, *Int. J. Contemp. Math. Sciences*, vol. 3 (2008) no. 9, 1409-1417.
- [43] H. K. Xu, Iterative algorithms for nonlinear operators, *J. London Math. Soc.* **66** (2002) 240-256.
- [44] H. K. Xu, Inequality in Banach spaces with applications, *Nonlinear Anal.* **16** (1991), 1127-1138, *London Math. Soc.*, **66** (2) (2002), 240-256.
- [45] H. K. Xu, An iterative approach to quadratic optimization, *Journal of Optimization Theory and Applications*, **116** (2003) no.3, 659-678.
- [46] I. Yamada, The hybrid steepest decent for the variational inequality problems over the itersection of fixed points sets of nonexpansive mapping: in D. Butnariu, Y. Censor, S. Reich (Eds), Inherently parallel algorithme in feasibility and optimization and their application, Elsevier, New York, (2001) 473-504.
- [47] D. Youla, On deterministic convergence of iterations of related projection operators, J. Vis. Commun. Image Represent 1 (1990), 12-20.
- [48] W. Takahashi, Nonlinear Functional Analysis, Yokohama publishers, Yokohama, 2000.
- [49] H. Zhou, L. Wei, Y. J. Cho; Strong convergence theorems on an iterative method for family of finite nonexpansive mappings in reflexive Banach spaces, Appl. Math. Comput. 173 (2006) 196-212.

DEPARTMENT OF MATHEMATICS, NNAMDI AZIKIWE UNIVERSITY, P. M. B. 5025, AWKA, ANAMBRA STATE, NIGERIA.

E-mail address: euofoedu@yahoo.com